Economics IV

Perfect competition – Partial equilibrium

1. Section 1.  Explain why the following statements are true or false.

2. In a perfectly competitive market, there are no barriers to entry or exit.  Therefore, there can be no fixed costs, since they are barriers to entry.  Thus, a perfectly competitive firm is always in a “long run” situation.

3. The short run marginal cost curve of a perfectly competitive firm intersects its short run average variable cost curve at the minimum point of the average variable cost curve.

4. If a perfectly competitive firm increases the size of its fixed input, we would expect the minimum point of its new average cost curve to occur at a larger level of output.

5. To get the U shaped average cost curves we like to use, we need to have a cubic total cost function.

6. In a perfectly competitive market, if the supply curve shifts up and in (contrae) due to an increase in wages, the effect on the equilibrium price in the market will be larger if the demand curve is more elastic.

Section 2.  Solve the following exercises.

a. A firm producing automobile parts has the following production function: q=K½ L½ where K is the number of machines and L is the number of hours of labor.  In the short run, the capital stock of the firm is fixed at 100 machines.  Suppose that the rental rate for a unit of capital, r, is $1, and that the wage rate for labor is $4.

b. Derive the firm’s short run total cost curve, its short run average cost curve, and its short run marginal cost curve.  What will the values of SRTC, SRAC, and SRMC be when the firm produces 50 automobile parts?  What will the values of these cost curves be when the firm produces 200 automobile parts?

c. Graph the cost curves you have derived, in (Q,$) space.  At what exact level of production is the short run average cost of this firm minimized?  Explain why the SRAC curve intersects the SRMC curve at the minimum point of SRAC.

d. What is the short sun supply curve of this perfectly competitive firm?  Suppose there are 100 firms in the entire auto parts industry.  What will the supply curve for the industry be?

1. Suppose now that the wage rate rises from $4 to $6.  Find the new supply curve for each competitive firm and for the industry.  Explain your work carefully.

a. Suppose the daily demand curve for ATM (cajero automatico) transactions is given by QD=100-2P, and the supply is given by QS=20+6P, where P is the price charged per ATM transaction.

b. What will the equilibrium price for ATM transactions be?  How many daily transactions will take place?

c. Suppose now that the central bank places a tax of $4 per ATM financial transaction.  What will happen to the demand and supply curves for this service?  What will be the new equilibrium price and quantity?  Who is paying more of this tax, consumers or sellers of ATM transactions?  Why?  Explain your answer carefully using a graph of the market.

d. How would your answers to parts a and b change if the original supply curve were QS=70+P?  Do not calculate the new anrwers – explain why and how they will change without calculating them.
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